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@ RAMANUJAN GLOBAL SCHOOL, MANESAR

WINTER HOLIDAY HOMEWORK

GRADE - ViI

Dear students

Holidays are integral parts of a student’s life. It is a time explore and a
time to learn in different ways. When holidays are given a meaningful
direction, it results in a productive and enjoyable time. Let’s use these holidays
to pursue some hobbies and apply our minds creatively to learn new things
and to bring a change in the environment, in our individual ways.

GENERAL INSTRUCTIONS TO BE FOLLOWED WHILE DOING HOMEWORK:

1. Take a printout of the holiday homework worksheet.

2. Homework will be assessed for the neat handwriting, presentation,
creativity and submission of the work on time.

3. Parents can be facilitator at home. However, the work should be done
independently by the child in his/her handwriting.

Maths
1. Solve any 10-10 questions based on the concept of lines and angles and
properties of triangles in Maths Notebook.

2. Learn /Write tables 12 to 25 and Roman Numbers (1 to 200) in maths
notebook.

Social Science

1. Learn ch-7 in Geography, ch-7 in History and ch-7 in civics.
2. On a political map of world mark the continents and oceans.
3. Write down the neighbouring countries and island groups.

English

Eng litreature- learn Q/Ans and w/m of ch- 13 to 19.

Read and write one page daily.

Eng Gr.- Revise ch-11 to 14.

Write essays on topic ‘ Importance to teacher in your life and holi’.
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Science

1. Make a diagram of Respiratory System on A4 size sheet.
2. Read Ch-15 &16.

3. Make a report on different types of Soils found in India.
4. Learn ch-13, 14 and 15.
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Computer

1. Do page no. 103,104 in book and learn book exercise and Ques/Ans of
ch-9,10,11.

NOTE-: Winter break will start from 31t December 2024 to 15" January 2025 from
classes Pre- Nursery to 7th.
School will reopen on Thursday, 16" January 2025 as usual time. During

winter vacation, the school reception will open from 8:30 a.m to 1:30 p.m so,

kindly submit the fee for the month of January.

SOLVE THE WORKSHEETS GIVEN BELOW:
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Part A: Multiple Choice Questions (MCQs)

1. Which of the following is not a condition for congruence of two triangles?
a) Side-Side-Side (SSS)
b) Side-Angle-Angle (SAA)
c) Angle-Side-Angle (ASA)
d) Side-Angle-Side (SAS)

2. Two triangles are congruent if:
a) The corresponding sides and angles are equal.
b) The corresponding angles are equal, and the corresponding sides are in
the same ratio.
c)The corresponding sides are equal, and the corresponding angles are in
the same ratio.
d) None of the above.

3. Intriangle ABC, if AB = DE, BC = EF, and AC = DF, then triangle ABC is
congruent to triangle DEF by which rule?
a) SAS
b) SSS
c) ASA
d) AAS

4. Which of the following sets of conditions is sufficient to prove two
triangles congruent?
a) Two sides and one angle
b) Two angles and one side
c) Two sides and the included angle
d) One side and two angles

5. In the case of right-angled triangles, which of the following congruence
criterion is used?
a) SAS
b) RHS
c) SSS
d) AAS
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Part B: True/False Questions

1. Two triangles are congruent if their corresponding angles and corresponding sides are
equal.

e True / False

N

. The Angle-Side-Angle (ASA) rule is a valid criterion for triangle congruence.
e True / False

3. If two triangles are congruent by SSS, then their corresponding angles must also be
congruent.

e True / False

4. RHS (Right-angle-Hypotenuse-Side) is applicable only for right-angled triangles.
e True / False

5. If two triangles are congruent, the corresponding areas are always equal.

e True / False

Part C: Solve the Problems
1. Given:
e Triangle ABC where AB=7cm, BC=9cm, and AC=8cm.

e Triangle DEF where DE =7 cm, EF =9 cm, and DF =8 cm.
Are the two triangles congruent? If yes, by which criterion?

2. Intriangle PQR, PQ =12 cm, QR =10 cm, and £PQR = 60°. In triangle STU, ST =12
cm, TU =10 cm, and 4£STU = 60°.
Prove that triangles PQR and STU are congruent using a suitable congruence criterion.

3. Given that AXYZ and APQR are right-angled triangles with right angles at Y and Q
respectively, XY =5cm, X2 =12 cm, and YZ = 13 cm, while PQ =5 cm, QR =12 cm, and
PR=13cm.

Show that the two triangles are congruent using the RHS criterion.

4. In AABC and ADEF, £A = 4D, AB = DE, and AC = DF. Prove that AABC = ADEF using
a congruence rule.

5. In atriangle, if two sides are congruent, and the included angle between them is
also congruent to the corresponding angle of another triangle, prove that the two
triangles are congruent.
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English

Name: Date:

Grade 2 Reading Comprehension Worksheet

THE INCREDIBLE GROWING JACKET
JADE MAITRE

Read the story below.
One day when Jules is at school, he takes his jacket from the hook and notices
the jacket seems different. He puts it on. Its sleeves go down than they did
before. The hottom of the coat is close to his knees. It looks exactly like his
coat. It is dark blue. It has a nice hood. At home, Jules takes off the jacket and
notices that it is not a Size 6 anymore. Now it is a Size _

9. The next day at school, he sees another boy wearing

a blue jacket like Jules’s. It is much too small for him. A ( el
big smile comes onto his face. The other boy was 9 qr’
years old and Jules was 6 years old. Their Mums must b‘ i

have bought their jackets from the same shop, only

in different sizes. At lunchtime, the boys took off
their jackets to play soccer, and took home the wrong
ones.

Answer each question.
1. What does Jules notice about his jacket?

2. How does Jules know that it looks like his coat?

3. What is the size of Jules’s jacket when he takes off?
a. Size9 b.Size12  c.Size 14
4. What does Jules see next day at school?

5. Why there is a smile on Jules’s face?
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Direct and Indirect Speech

Q. Change the following sentences from direct speech into
indirect speech

a. Shesays, “l am a little bit nervous.”

b. They said, “Sir, the time is over.”

c. We said, “We go for a walk every day.”

d. They said, “We take yoga classes.”

e. He says, “l| am happy”.

Gl il dddaaedaadaadaaasaaadaaaaaaad a4

SOOI I 77777 I 7SI

A A R AU R U U R U R R R NN S



A A A N U R R U R R U R R R RO R R

AN
N 7

m Conjunctions

Add conjunctions to each sentence.

1. It started raining __ we went inside

2. We went to the beach got ice-cream.

3. The runners were fired
run.

they sfill continued to

. Lucy had fo help wash the dishes ____ pack away
the dishes.

5. The builders had not started laying the bricks.

. Tim neither likes apples pears.

. The family went out _ breakfast.

. Affter school they afe their snack fast _ they could
go play.

Q. It was a warm
swim.

sunny day so they went for a

10. Lilly helped her mum dad paint the
P
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A. Choose the correct option:
1 tells the correct relation between speed (s), distance (d), time (t).
a. d=s/t b. s=d/t
c.t=s%d d. none of these
2. does not show periodic motion.
a. motion of a butterfly b. rotation of the earth
¢. hands of a clock d. strings of a sitar
3. is the time taken by pendulum to complete one oscillation.
a. speed b. time period
¢. amplitude d. distance
4. is not a unit of speed.
a.m/s b. km/h
¢. kmh d. both a.and b.
5; device is not used to measure time.
a. sand clock b. sundial
¢. speedometer d. water clock

6. When the distance travelled by a body at fixed intervals of time is not the same, is called

a. uniform motion b. non-uniform motion
¢. both of these d. none of these

7. If an athlete takes 50 sec to complete a race of 200 m. His speed is

a.3m/s b.5m/s

c.4m/s d.6m/s

8. time measuring device was used by our ancestors before the pendulum
clock.

a. wrist-watch b. sundial

¢. stop-watch d. digital clock
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Structure of a flower

Label the diagram below:

Complete the word fill exercise below and table on the next sheet:

The male part of the flower is called the consists of the

and . The female part of the flower is called

the consists of the N and

. The male gamete is made in the and is

found inside the grain. The female gamete is found in the

and is called an
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Social Science

Date:

Markets Around Us

merchants in bulk for resale to consumers.  buyers for self use.
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x management. 3. A group of people who are a connecting x
7. People’s access to markets also depends  link between the producers and the
x on the of the goods available. consumers. Q\%\
x 8. The societies are made to 4, They_ move from one place to another to &X
reduce the dependency of the producers on ~sell their goods.
x the intermediaries. 5. stores are the combination Q\%\
9. Weekly markets do not have of number of shops under single roof.
x shops. 6. A is a person who buys the ‘x
10. It refers to the selling of goods to goods from a wholesaler and sells them to
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Fill oceans and continents:

WORLD POLITICAL Class See: RallNa, :

“‘“W%m
L SR
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Fill states in this map:

Rajasthan i :"
‘ I“ . "" 3
Al
e )
) o, e
i a"".
Goa: {
:

&
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Stay happy
Enjoy Holidays
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